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Retrof it of the Salf-regulating Drainer of High-pressure Heater
ZHAN G Yin-zhou
(Hubei Huadian Huangshi Electric Power Co. ,Ltd., Hubei Huangshi 435000, China)

[ Abstract] In order to solving the problems of losing control of water level in high-pressure heater ,
which causes the heater operating at full or zero water level and heavy disturbance of water level ,good
result and economy were achieved by employing self-adjustment controller of water level with steam
and liquid two-phase flow to control the water level of high-pressure heater.
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(1238.82- 1065.2) =4.68%x10° kJ/ h
(5) 200 (2)2 2 :
, , T, =310 ; Ps =2.46 MPa; D =37.82 T/ h;
Ps =2.46 MPa
2.3 H =2800.7 k)/kg; H =956.98 kl/ kg
cH =rH +(1-rH =0.1x
(1) 7 4 3  2800.7+0.9x956.98=1 141.35 kJ/ kg
, ; Q@ =D(H - H ) =37.82x
(2) 7, , 1 000 x (1 141.35- 956.98) =6.97 x10° kJ/ h
, (33 3 T. =454.8 ; Ps
3, =1.22MPa; D =21.24 T/ h;
(3) 3 : , Ps =1.22 MPa
4, , H =2782.7kl)/kg; H =800 kJ/kg
; cH =rH +((1-rH =0.1x
2 782.7+0.9 x800=998. 27 ki/ kg
3 Q@ =D(H - H) =21.24x
1 000 x (998.27 - 800) =4.21x10° kJ/ h
3.1 1 (4) 6 500 h ,
1 mm :
200 180 160 (1 + Q@+ Q) x6500=(4.68x10° +6.97 x
- N/ MW - — — 10° +4.21 x 10°) x 7 500 = 1. 0309 x 10" kJ
2 270 210 120 29 307.6 k' kg
5 oo 150 o 1.0309 x 10" + 29 307. 6= 3.52
x10° kg=3520 T
' * 560 , 3 520 x
560=197.12( )
3.2
4
3.3
(1)1 : ’
T. =363.3 ; P, =3.75MPa; D =26.98 T/ ' ’
) : :
Ps =3.75 MPa ’
H =2801.4 ki kg: ’
H =1065.2 kd/ kg
10 % ; r=10% , ,

H =rH +(1-nH
x1065.2=1 238.82 ki/ kg,

Q = D(H - H)
. 30 -

=0.1x2801.4+0.9

= 26. 98 x 1 000 x
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